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A & 0l & AF 2 E A A
20179 = 2 3 Letal A A
2AM: 8IS
H: FOUXX D8 B3-S
el oM IRy (Sl & &)
£ -2 (ZH) - MM - BES Off &4 JEH Hns2Z
gHi1s 334,982 354,982 220,000
FXX JIgE He-Ei1s 258,616 278,616 20,000
FOME DIAHE 258,616 278,616 220,000
AL AIE - ZH |X2el 131,397 151,397 A20,000
401 Al HIZ 2018 76,500 96,500 220,000
01 A& HI 76,500 96,500 220,000
OHZF=SKNEHEZE AW 40,000,000& 40,000 60,000 A20,000
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Of & Ab & & A
20178 =& 2 3
2N
A
ol Sl®g)
AEA) - M2EAY - BES Off &t 24 INEH =
ALE 751,735 351,735 400,000
= 7,500 7,500 0
i 300,000 0 300,000
- 444,235 344,235 100,000
F=QIXHR Dl 2 Et-4l 643,614 243,614 400,000
= 7,500 7,500 0
imi 300,000 0 300,000
- 336,114 236,114 100,000
FOME DAY 643,614 243,614 400,000
= 7,500 7,500 0
i 300,000 0 300,000
T 336,114 236,114 100,000
MENSHIASIHE W22 ALY 400,000 0 400,000
i 300,000 0 300,000
T 100,000 0 100,000
400,000 0 400,000
i 300,000 0 300,000
T 100,000 0 100,000
397,120 0 397,120
2 ALY
397,120,000 * 14! 397,120 0 397,120
i 300,000 0 300,000
- 97,120 0 97,120
2,880 0 2,880
2ASAIE R U
2,880,000& 2,880 0 2,880
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